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Previous Question Paper

REASONING ABILITY p "-;\
€ .

1. In a certain code OMNIBUS is writ-ten as SUBINMO. How is TROUBLE written in that code ? Q.) ELB‘UOR?{Q |
ELRTBOU (3) EBOURLT (4) ELBTROU (5) None of these .

2. How many such pairs of letters are there in the word CORPORATE each of which has as ményftters between frem
in the word as in the English aiphabet ? S ,
(1) None (2) One . g "
(3) Two (4) Three o K
(5) More than three 1 »Y F

3. In a certain code BOND is written as '9©35' and DAZE is written as '5_@7{'\How is&ONE{writtean that code ?
(1) 2073 (2) 7©23 \ "
(3) 7©32 (4) ©723
(5) 2©37

4.1f it is possible to make only one meaningful word with jthe first, second, fifth, and sixth letters of the word
'EDUCATION', which would be the last letter of the word? #f more than ong such word can be formed, give X as the

'

an-swer. If no such word can be formed, give K as your answer. (1)T @)
3YAME N
(B)K ﬁf
5. How many such digits are there in the number 5269183 each of Whicgrtqs' «far away from the beginning of the
number as when the digits are arranged in descenﬂ@rder within the qumber ?
(1) None (2) One

(3) Two (4) Three . |
(5) More than three q;!‘

6. Ronan walks a distance of 10 km towar tﬁth, then tums to his left and walks 20 km. He again turns left and walks
10 km and then, he takes a right turn and walks 5 km. How far he is from the starting point ?

I

(1) 10 km (2) 20 km ¥
(3) 30 km ' (4) 25 km "
(5) 15 km (1 b,

7.1 'Q" means 'B' means V, A' means '4' 4’76 'F' means'+', then -12B 20 A4 Q 10 F 30 .=? (1) 60 (2) 80
(3) 70 (4) 90 -

(5) None of these ‘{ '
8. The positions of. the iri and eighth' digits of the number 92753481 are interchanged. Similarly, the positions of

segond and the seventh digits,are interchanged and so on, which of the following will be the fifth digit to the left of
thsecond digit from the fightiend after the rearrangement ?

(18 (22

341’

(5)3 ] L

9. What should come next injthe following letter series? ZY XWVUTZY XW V UZYX WVZYXW
LV Y
BRz@®U
(5) None of these
10.'GJ' is related to 'MF in the same way as 'QT is related to__.
(1) WZ @) WY
(3) VZ (4)
(5) VW
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Directions (11 - 15) : Study the following Information carefully and answer the questions given below :
P, Q, R, Sand T are five friends who travelled to five different cities -Dehradun, Jaipur, Chandigarh, Rajpur, and
Bengaluru by three different modes of transport - train, aeroplane, and car from Delhi not necessarily in the same
order. Out of the three modes of transport, two modes have been used for by at most two persons.
Aeroplane has been used as a mode of transport only by the person who travelled to Bengaluru. T went to Jaipur
by car and P went to Chandigarh by train. One who travelled by train didn't
go to Dehradun. Q travelled by train whereas R travelled by car.
11. Which of the following combina-tions is true for Q ? i
(1) Chandigarh - Car “ %
(2) Jaipur-Train ( |
(3) Dehradun-Train - / |
(4) Jaipur - Car A J ./
(5) Raipur-Train " "> r-'
12. Which of the following combina-tions of person and mode is cor-rect?
(1)T-Train - /
(2) P - Car A 4 y v
(3) R-Aeroplane " > r
(4) Q- Car \ ( b
(5) S-Aeroplane 4 | k { '
13. The person travelling to Dehradun went by which of the followingf modes 2# | A
(1) Train 1
(2) Aeroplane |
(3) Car
(4) Data inadequate
(5) Train or Car
14. Who among the following travelled to Dehradun ? [
W)TQ@S £
(3)R@)P
(5) Data inadequate 1 (
15. Which of the following combina-. tions of p@eéd maode is not cor-
W

rect ?
(1) Chandigarh-Train ‘j
(2) Raipur-Car -

(3) Jaipur - Car v
(4) Bengaluru - Aeroplane = L
(5) Dehradun-Car I »%

16. There are seven persons up on'a laddg¢rA, B, C, D, E, F and G. A is above E by three steps but is lower than only C.
B's position is exactly i1the middle. G is in between A and B. E is in between B and F. Who is on the bottom step of
the ladder ?

(YD (B Ji

3)F.@)E
E?)G@) j\\\

irections (17 - 19) : Eacll of the questions below consists of a ques-tion and two Statements numbered | and 11
given below it. You have o de-cide whether the data provided in the Statements are sufflcient to answer the
question. Read both the Statements and—

G'{answer (1) : iif the data in Statement I alone are sufflcient to answer the question, while the data in
Statement 11 alone are n@t sufficient to answer the question.
Giye answer (2).: if the data in Statement 1l alone are sufflcient to answer the question, while the data in
Statementfl alone are not sufficient to answer the question.
Givesanswer (3) : if the data in Statement | alone or in Statement Il alone are sufficient to answer the question.
Give arfswer (4) : if the data in both the Statements | and |1 are not sufflcient to answer the question.
Give answer (5) : if the data in both the Statements | and Il together are necessary to answer the question.
17. How many children does L have?
I. E has only two sons.
I1. E, wife of L has only" one daughter.
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18. On which day of the month is Asha's birthday ?
I. Asha's brother correctly remem-bers that Asha's birthday is af-ter 20th but before 25th of the month.
I1. Asha's sister correctly remem-bers that Asha's birthday is only after 23rd of the month.

19. What will be the total of numerical values of the letters of the word 'FADE' ?
I. A is substituted by 1, B by 2, C .by 3 and so on.
Il. B, D, F, H and so on are substituted by even numbers start-ing with 2. Also, A, C, E, G and so on are substituted

by odd numbers starting with 1.

20. In a certain code language, 'sing-ing is appreciable' is written as ‘col Up mot'; 'dancing is good' is written as#mot nik
min' and 'singing and dancing' is written as 'tip mop nik'. How is 'good’ written in that code language ? = b
(1) mot (2) min (3) nik(4) Data inadequate(5) None of these ( |

- |
Directions (21-23) : Study the following Information carefully and answer the questions given bélow. / "/
There are seven books, one each on Psychology, Hindi, English, Sociol-ogy, EconomicsgEducation and,
countancy lying on a table as a Stack. Sociology lies on top of the Stack. Ac-countancy is immediately below Edu-
cation, which is just below Sociology. Economics is immediately above Psychology, but is nd't’exacjy in the middle.
Hindi is immediately below Psychology. L] d
21. Which three books are between Accountancy and Hindi ? . 1 % 4
(1) English, Economics and Psychology y (
(2) Economics, Psychology and Education i | \ {
(3) Economics, Psychology and Hindi
' (4) Data inadequate (5) None of these
22. Economics is in between which of the following books ?
(1) Accountancy and Education
(2) Psychology and Hindi
(3) English and Psychology
(4) Psychology and Sociology [
(5) None of these : l‘f
23.If only the positions of Sociology and Englishiy Accountancy and indi and Education and Psychology are
interchanged, which book will be between Psyctxg nd Sociology ?'

W

(1) Accountancy (2) English (3) Hindi (4) E‘no cs
(5) None of these f

Directions (24-29): In each of the q‘e‘tlons below are given four Statements followed by three conclusions
niimbered 1, 11 and I11. You have to take the given Statements to be true even if they seem to be at variance from
com-monly known facts. Read allythe conclusions and then decide which of the given conclusions logically follows
from the given Statements disvegardﬁng com-monly known facts.

24. Statements: t 1 #%
All flowers are petals. All petals are b{).xes. All boxes are buildings. All buildings are trucks.
Conclusions:
I. Some trucks are boxes.
11.Some,buildings tals.

11 Seme boxes are flowe
(@ Only I follows "\\
) Only I and 11 follow

(3) Only I and 111 follow
(4) Qnly llgand 111 followy
(5) AdL1, Lland 111 follo
25. Statements:
All pencils are pens. Some pens are erasers. All erasers are desks. Some desks are bottles. Conclusions:
I. Some bottles are pens.
I1. Some desks.are pens.
Il. Somg_erasers are pencils.
(1) Only' fallows
(2) Only I follows
(3) Only 11 follows
(4) Only I and 1l follow
(5) None of these
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26. Statements:
Some raincoats are dresses. Some dresses are uniforms. All uniforms are clothes. All clothes are materials.
Conclusions:
I. Some materials are dresses.
Il. Some clothes are raincoats.
I11. Some uniforms are raincoats.
(1) Only I follows
(2) Only 11 follows i 4

(3) Only 1 follows
(4) Only I and 11 follow (

1
(5) None of these /
27. Statements: "
Some stems are trees. All trees are forests. Some forests are roads. All roads are petals. Conclurh r
I. Some petals are trees.
I1. Some roads are trees.

I11. Some roads are stems. "I y "
(1) Only I follows g 5 r

-

(2) Only 11 follows \ (
2 &
- ’ 1

-— |

(3) Only I and 11 follow
(4) Only either 11 or 111 follows
(5) None follows
28. Statements:
Some clocks are watches. Some watches are walls. Some walls are hauses. $ome houses are rooms.
Conclusions:
I. Some rooms are walls.
I1. Some houses are clocks. [ /

I11. No room is wall. A
(1) Only I follows
(2) Only 11 follows 4 (

(3) Only 11 follows 4 {

(4) Only either I or 111 follows
(5) None of these
29. Statements:
All tables are beds. No bed is boat.’ Some boats are lakes. All lakes are ponds. Conclusions:
I. Some ponds are tables. <

I1. Some lakes are beds. ( i * %
I11. Some ponds are boats. ‘.--
(1) None follows \

(2) Only I follows
(3) Onlyli follows qg'

(4) Oaly 111 follows
(8) Only I and Il follow \\\
Directions (30-35) : Inach

question below Is given @ group of letters followed by four combinations of digits/symbols numbered (1), (2), (3)
and (&). Yeu have to find out which of the combinations correctly represents the group of tetters based on the fol-
lowing coding System and the condi-tions and mark the numbers of that comblnation as your answer. If none of the
four co inations corre}ly represents the group of letters, give (5) i.e. 'None 6f these' as your answer.

Letters
D|g|taI/PZKAFIDRMGQUWS
Symbol | 809 | 3 | 8 7

31. AMPWQU
(1) *#6%0O™ (2) % 6#O%5 (3) *#6%O5 (4) 8#6%©5 (5) None of these
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32. SMRZFA
(1) 8#@79% (2) @#79%$8 (3) 8#79%@ (4) #79%8@ (5) None of these

33. RMSPAK
(1) 7#@683 (2) 7#@687 (3) 3H@687 (4) *7#@683 (5) None of these

34. QFPKUZ
(1) ©$6359 (2) ©$6350© (3) 9$635© (4) $©6359 (5) None of these

35. KDMRSI
(1) 34#7®@2 (2) 32@7#4 (3) 24#7@3 . (4) *4#7@* (5) None of these Directions (36 - 40) : Study the foIIowm{
arrangement carefully and answer the questions given below. 38 $QR#T4S7@ 1JU %
165FAC9EG*HWK2E

36. How many such numbers are there in the above arrangement, each of which is immediately prepeded bys=a con‘pﬁam
and immediately followed by a symbol ? (I)None- (2) One \ 8/
(3) Two (4) Three " "> r
(5) More than three

37. Which ofthe following is the eighth to the left of the thirteenth from the left end of the above MangTegt7'
DR #
BQ@)T .

(5 ( s
38. If all the Symbols and numbers in the above arrangement are drop d""W#ﬁh of the ollom&ng will be the tenth from
the right end ? )
@13 1
BRUM@S |
(5) None of these
39. What should come in place of question mark (?).in the following se-
ries based on the above arrangement?
Q#T 71J 15F ? (1) CEG (2) 9G*
(3) E*H (4) GHW 2 /
(5) None of these R Y éﬂ ‘
40. How many such consonants are there in the above arrangement, each ofiwhich is immediately pre-ceded by a vowel
and immediately followed by another consowt fl) None (2) One
(3) Two (4) Three ‘
(5) More fhan three j
Directions (41-45) : Following questlor'E“are based on the five three-digit numbers given below :
973 825 461 592 789
41. Ifthe positions ofthe first and he s eéond digits within each number are interchanged, which ofthe following will be
the third digit ofthe lowest nurT)el‘ 2 %
(1)2 (2)9 d W (e
(3) 3 (4)5 ‘ 1
(5) None of these
42. If the positions of thgsi?nd and the third digits within each number are interchanged, which ofthe followéng will be
the difference between tjei'(s;and the second digits ofthe lowest number ?

I

@123
)4 (4) 2
(5) None of these
43. Whatjis theidifference betieen the third highest and the lowest of these numbers ?
(1) 358 (2),380
(3) 323/(4) 421
(5) None of these
44, Which @f the following,is Ihe sum of the first and second digits of the third highest number ?
111 5
(3)17 (4)13
(5) None of these
45, Ifthe positions ofthe first and the third digits within .each number are interchanged, which of the following will be
the second digit ol the second lowest number ?
@928
(3746
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(5) None of these

Directions (46 - 50) : In each of the questions given below which one of the following answer figures on the right
should come after the problem figures on the left, if the sequence were continued ?

Problem Figures Answer Figures

I

« [TITTTILTT

—fi

——a
e
—

— e
3
—

ma e @0
NP — | — < | >— }— —
47. | — (| — | — | || — | —5 | —
— | 7| || (|| > D>— | >—
Ao IR RO C I RG]
o [V RHIA V<F<
e momE W)
o QPR PRI NNRORRNEN
L L ST TRy S )
i LIRS T8 BT LR Bl il R Ve i
' = ([ el RNl S e B o R
i _ T ) e T2

_f

NUMERICAL ABILITY

- -
Directions (51-75): What should ofne-'lmplace of the questlon mark (?) In the following questions ?
51. (9°-° x 9%) + 9%° = 97(1)13.14 (2)12.96.(3) 12.43 (4) 13.34 (5) None of these

52. (486% of 6500) + 36 = ?(1)867.8'(2)792.31 (3)877.5 (4)799.83 (5) None of these

53. (12.11)% + (?)% = 732:2921 (1)20.2 (2)24.2 (3)23.1 (4)19.2 (5) None of these

54.576.-r ? x.114 = 8208/(18 (2)7 (3)6 (4)9

(5) None of these
55. (1024-263-233)+ (986-7 E 2
)9 (2)6

(3)7 (4)8

(5) Nene of these
46.V625+.5 x 2. = 6265

(1)1253f(2)1250

(3) 1245 (4) 1550

(5) NoRe of these
57. (42)* T 26.= ? (1)7182 (2)7269 (3) 7260 (4) 7240 (5) None of these
58.384 x 12 X*2 = 7 (1)9024 (2)9216 (3)6676 (4)6814 (5) None of these
50,6534 + 40+ 38'=? (1)3.06 (2)5.25 (3)4.82 (4)6.12 (5) None of these
60. 72704 x V2209 = ? (1)1996 (2)2444 (3)2452 (4)1983 (5) None of these
61. 2536 + 4851 - ? = 3450 + 313 (1)3961 (2)4532 (3)3624 (4)4058

(5) None of these
62. (2560 x 1.4) + (7400 x 0.6). = ? (1)7512 (2)9746 (3)6523 (4)8024

&

-F
r

(

}

. &

y v

F
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(5) None of these
63. 36% of 850 + ? % 592 = 750 (1)73 (2).89
(3)82(4) 75
(5) None of these
64. 64% of 2650 + of 320 = ? 40% (1) 1824 (2) 1902 (3)1829 (4)1964
(5) None of these
65.486 + 32 x 2.5-59 =? (1)514 (2)528 (3)599 (4)507 (5) None of these
66. 1827 + 36 X ? = 162.4 (1)4.4 (2)3.2 (3)2.1 (4)3.7 (5) None of these 4
67.1008 + 36 = ? < o
(1)28 (2)32.5 " i)
(3)36 (4)22.2] - / \
(5) None of these A} /
68.56.21+2 .36 +5.41-21.4+15="? r‘ M r
(1)40.04 (2)46.18
(3)44.08 (4)43.12 - /
(5) None of these A J
69. 65% of 320 +.? = 686 (1)480 (2)452 (3)461 (4)475 (5) None of these o 1 .- 4
70.83250 + ? = 74 x 25 (1)50 (2)45 (3)40 (4)55 (5) None of these " ( "_
71.V7744 =9 v J\ (¢
(1)88 (2)62 o
(3)58 (4)78
(5) None of these
72.35% of ? = 242.55 (1)729 (2)652 (3)693 (4)759 (5) None of these
73.1256 + 4813 + 765 = ?(1)5642 . (2)5876 (3)6788 (4)6878 (5) None of these
74.22 x 4+ (?)* = (13)*(1)81 (2)9 (3)27 (4)64 (5) None of thes
75. 432 + 2170 + 35 = ? (1)494 (2)475 (3)481 (4)469 (5) None of these
76. Three numbers are in the ratio of 3 : 4 : 5 respectively. If the sum of the fi nd‘ﬁwird riimbers is more than the
second number by 52, then which will be the Iarg‘ r{mber ? f

W

(1)65 (2)52 > |
(3)79 (4)63 ‘ f
(5) None of these j

77. The Compound interest on a cer-tain afount for 2 years at the rate of 8 p.c.p.a. is Rs. 312. Whatwill be the simple
interest on the same amount and at the same rate and same time ?
(DRs. 349.92 (2)Rs. 300 (3) Rs. 3 92 (4) Rs. 400 (5) None of these

78. The length of a rectangle excefs its®breath by 7 cm. If the length is decreased by 4 cm. and the breadth is increased
by 3 cms., then the area of the fiew refgangle will be the same as the area of the original rectangle. What will be the
perimeter of the origina‘rectangle%
(1)45 cm. (2) 40 cm.
(3):50 cm. (4) 55 ¢ 4

(5) None of these
79. T‘(e sum of the digits o \t\}%digit number is 12. If the new number formed by reversing the digits is greater than
the original number by 54§ therywhat will be the original number ?
(1)28 (2)48
(3)39(4)93
(5) Nane of these
80. In a fraction, twice thef numerator is two more than the denomina-tor. If 3 is added to the numerator and the
denominator each, then

The resultant fraction will be %

What isithe griginal fraction?
5
W @5

(3= (4= (5) None of these
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81. Four-fifth of a number is 10 more than two-third of the same number. What is the number ? (1)70 (2)75
(3)69 (4)85
(5) None of these
82. A shopkeeper purchased 200 bulbs for Rs. 10 each. However, 5 bulbs were fused and had to be thrown away. The
remaining were sold at Rs. 12 each. What will be the percentage profit ? ~ (1)25 (2)15
(3) 13 (4) 17
(5) None of these i
83. What should come in place of the question mark (?) in the number series given below ? “ %
25345279 115 ? (1)160 (2)140 " i)
(3) 153 (4) 190 - / \
(5) None of these A} 8/
84. What number should replace both the question marks (?) in the fol-lowing questions ? r‘ "> r'
?2-49144~?
(1) 95 (2) 76 - /
(3)82 (4)84 A gy
(5) None of these "
85. The sum of three consecutive even numbers is 252. What is the sum of the;smallest a{d the a"r_gest numbers ?
(1)158 (2)148 i | i f
(3) 168 (4) 198 ;
(5) None of these 1
86. Ajay spends 25 per cent of his salary on house rent, 5 per cent onfood, 15 per cent travel, 10 per cent on clothes and
the remaining amount of Rs. 27,000 is saved. What is Ajay'sfincome
(DRs. 60,000 (2)Rs. 80,500 (3)Rs. 60,700 (4)Rs. 70,500 (5)!None of these
87. In how many different ways, can the letters of the word 'CRISIS" be arfanged ?
(1)150 (2)240 [
(3)120 (4)200 a /
(5) None of these
88. At each corner of a Square park with side equal to,40'm, there is a flower bed in the form of a sector of radius 14 m.
What is the area of the remaining pari of theﬁrg
(1) 984 m? (2) 789 m?
(3) 1014 m? (4) 1024 m? (5) None of these‘_ A
89. The length of a rectangular field is thricé™ts breath. If the cost of cultivating the field at Rs. 367.20 per Square metre
is Rs. 27,540, then what is the peri’meter of the rectangle ?
(1)47 m (2) 39 m <« 'K
(3)52m (4) 40 m f 1 #%
(5) None of these i , ‘!,
89. The length of a rectangul@r field is thrice its breath. If the cost of cultivating the field at Rs. 367.20 per Square metre
is Rs. 27,540, then whatlis the perimeter of the rectangle ? (1)47 m (2) 39 m
(3)52my(4)40m W

(5) None of these
( 1

90. If the fractions g%g g re arranged in descending order of their values, which one will be the fourth ?

) : fg‘i

Fa

I

S ln

"\-(4.

9

¥ @

@) 2

91. The pres‘éﬁ es of Chetna and Shikha are in the ratio of 5 : 7 respectively. After 7 years, their ages will be in the
ratio of 11:14 respectively. What is the differ-ence between their ages ?
(1)9 years (2) 4 years

(3) 5 years (4) 7 years
(5) None of these
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92. If 13 tnen can complete a piece of work in 36 days, then in how many days will 18 men complete the same work ?
(1)16 days (2) 20 days
(3) 26 days (4) 30 days
(5) None of these

93. If the area of a circle is 75.46 cm?, then what is the circumference of the circle ?
(1)29.2 cm. (2)28.9 cm. (3) 30.8 cm. (4)40.2 cm. (5) None of these

94. Girish started a business investing Rs. 45,000. After 3 months, Vijay joined him with a capital of Rs. 60,000, After
another 6months, Ankush joined them with a capital of Rs. 90,000. At the end of the year, they made a‘pgefit of Rs.

16,500. What is Girish's share of profit ?(I)Rs. 5500 (2)Rs. 6000 (3)Rs. 6600 (40 Rs. 5900 (5) None of these o |
- |

5. What is the average age of a family of five members, whose ages are 42, 49, 56, 63 and 35 years re!épectively N "
(1)60 years (2) 49 years (3) 45 years (4) 58 years (5) None of these r
96. A and B are two taps which can fill a tank individually in 10 minutes and 20 minutes respectively. How-ever. there is
a leakage at the bot- . 2
tom which can empty a filled tank in 40 minutes. If the tank is empty initially, hommughtime will go the taps take
to fill the tank (leakage is still there) ? (1)8 minutes (2)> 7 minutes(3) 10 minutes (4) 15 minutes (5) None of these
97. What is 50% of 40% of Rs. 3,450 ? (I)Rs. 690 (2)Rs. 520 (3)Rs. 517.5-(4)%499.2 ;
(5) None of these . {
98. If an amount of Rs. 5,86,700 is distributed equally amongst-25 p
(DRs. 2,54,876 (2)Rs. 2,34,68 (3)Rs. 3,74,20 (4) Rs. 1,95,62
tank in 40 minutes. If the tank is empty initially, how much tj taps take to fill the tank (leakage is
still there) ? (1)8 minutes (2)> 7 minutes (3) 10 minutes (4) £5 minute$ (5) None of these
97. What is 50% of 40% of Rs. 3,450 ? (I)Rs. 690 (2)Rs. 520 (3)Rs. 517.5 #@#)Rs: 499.2
(5) None of these
98. If an amount of Rs. 5,86,700 is distributed equally amongst-25 persons, thien how ?]Ch wpuld each person get ?
(DRs. 2,54,876 (2)Rs. 2,34,68 (3)Rs. 3,74,20 (4) Rs. 1,95,62 (5) None of .
99. An urn contains 9 blue, 7 white! and 4 black ballﬁfe balls ans drawrfat random, then what isthtl probability that
only one ball is| white ?

ns, thefi how much V\;puld each person get ?

71 121 &, ) f
Wi @2 V4
Q= @— mY

1 o \\_
100. If the price of 5 transistors and()en St‘nds is Rs. 810, thenw will be the price of 7 transisto and 9 pen Stands ?
(DRs. 1,320 (2)Rs. 1,50 (3)Rs. 1,150
(4) Cannot be deterry’n
(5) None of these '

1N
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CLERICAL APTITUDE

Directions(101-13S): In each question bel ow acombination of Nameand Addressisgiveninthefirst column at the
left followed by four such combinations one each under the columns 1,2,3 and 4. Y ou have to find out the combingtion
which is exactly the same as the combination in the first column. The number of that column which contains ta
combination is the answer. If all the combinations are different, the answer is'5'.

(1 &) (3) (4) ®

101. Alok Marwal Alok Marwal Alok Marwal Alok Narwal Alok Marwel ' Nore
Rajpur Nagar-K Rajpur Nagar-K Rajpur Nagar-K Rajpur Nagar-K Rajpur Nagan
Bhiwani-04 Bhiwini-04 Bhiwani-04 Bhiwani-04 Bhiwani-04 .y
- |
102. Sunil Verma Sunil Verma Sunil Verma Sunil Verma Sunél Verma Nae
102 Vasant Kunj 102 Vasant Kunj 102V asntKunj 102V asntKunj 102V asant Kunj.,
Delhi-36 Delhi-36 Delhi-36 Delhi-38 Delhi-38 r
103. Veena Shakya Veena Shakya Veena Shakya Veena Shakya Veena Shakhila Nane

47-D, Sector-2C  47-D, Sector-2E  47-D, Sector-2C  47-D, Sector-26, J 47-D, Sector-2C

Chandimandir-43 Chandimandir-43  Chandimandir-43 Chandimadi?*—435 Py Chandirﬁndir-43
' k

104. Ditya Bhatt Ditya Bhatt Dithya Bhatt . DiQsRBhatt _Ditya Bhatt None
E.G. Road,.41A E.C. Road, 41A E.C. Road, 41A .C.'Road, 41A " E.C. Road, 42A
Dehradun-12 Deradun-12 Dehradun-12 DeHfadun-12 Dehradun-12

105. Reedhima Ojha Reedhima Ojha Reedhema Ima Ojha Reedhima Ojha Nae
571-M, Z-Street 571-M, Z-Street 571-M, Z- , Z-Street 571-M, Z-Street
Kaithal-136027 Kaithal-136027 Kaithal-136027 Kaithal-136027 Keithal-136027

106. Bhawna Rana Bhawana Rana Bhawna Rana na Rana Bhawna Rana Nae
36/D R.K. Road 36/D R.K. Road 36/D R.L. Road /D R.K. Road 36/D R.K. Road
Vasista-46 Vasista-46 Vasista-46 Vasista- 464 Vasishta-46

107. Nandan Seth Nandan Seth {a{n Seth dana Seth Nandana Seth Nae
K.V. No.-I, AMC K.V. N-I, AMC V. No.-1, AMC .V.No.-I, AMC K.V. No.-I,AMC
L ucknow-226001 Lucknow.22600‘ cknow-226021 L. ucknow-226001 L ucknow-226001

i

108. Utsav Singh Utsav Singh ‘j tsav Singh Utsav Singh Utsav Singh Nae
6-Radha Nagar 6-Adha Nagak, * 6-Radha Nagar 6-Radha Nagar 6-Radha Nager
Mathura-23 Mathura-23 Mathura-23 Mathura-32 Mathura-23

109. Dipesh Lal DersI!' Li'al Dipesh Lal Dipseh Lal Dipesh Lal Nae
A-14/3,M.G. Road A-14/3, M.@. Road A-13/4,M.G. Road A-14/3,M.G.Roadi A-14/3, M.G. Road
Kalegaon-52 K aon-f-':-'; Kalegaon-52 Kalegaon-52 Kalegaon-52

o) -
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110. Abhishek Rai
1029/3, Ramgarh
Patna-800014

111. Bhanu Pratap
16-3D,A.S. Colony
Jodhpur-15

112. Neerg) Dayal
23-Military Camp
GarhiCantt-14

113. Gurmit Kaur
96-A, Dhar Point
Sonepur-841101

114. Prabhat Nair
Golden Chowk
56-D, Munirka

115. BindiaVishwas
18-A/C2, Navy-3
Kolaba-33

116. Jyoti Dhanda
6/1,ShivalikNath
Aslamabad-31

117. Kavisa Saluja
L.P.U. University
Phagwara-37

118 MonikaDevi
ShopNo.-163/A
Mahupur-18

119. Sapan Mohan
35-Kalkaji Road
Panchkula-24

120.Permilalain

Surya Colony
Garhwal-09

121. Pranita Gopal
A.E.C. GirlsHostel
Pachmarhi-32

122. Trfankhan
34Parki Gali
ar Bajar-10
123. Anubhav Joshi
2036/M, ER.I.
Ballupu;og

124, AshishAnand
IHM, ase-|i
Pusa-3

125.VingD

Army Bo?‘s Irstel
Udhampur-31

126. AnitaNarwal
A-37/E, D.A.V.
Hoshiarpur-21

Abhishek Rai
1029/3, R&garh
Patna-800014

Bhanu Pratap

16-3C, A.S. Colony 16-3D, A.S. Colony

Jodhpur-15

Neergj Dayal
23-Military Camp
GarhiCaritt-14

Gurmeet Kaur
96-A, Dhar Point
Sonepur-841101

Prabhat Nair
Golden Chowk
56-D, Munerka

Bindia Vishwas
18-A/C2, Navy-3
Kolaba-33

Jyoti Danda
6/1,ShivalikNath
Aslamabad-31

Kavisa Saluja
L.P.U. University
Phagward'-37

MonikaDeva
ShopNo.-163/A
Mahilpur-18

Sapana Mohan
35-Kalkaji Road
Panchkula-24

PormilaJdai

Surya Celony

Garhwal—tg | #%

Rranitha Gopal ‘-’
AJE.C.GirlsHostel

‘;P. hmarhi-32

Irphan. Khan
3, ParkiGali
Sadar Bajar-10

Anudbhav Joshi
2306/M, F.R.I.
Ballupur-09

Ashish Anand

, Phase-li
Pusa-36
Vinaj Dev
Army BoysHostel
Udhampur-13

AnitaNarwal
A-37/E, D.A.V.
Hoshiarpur-21

Abhishek Rai
1029/3, Ramgarh
Patna-800014

Bhanu Prathap

Jodhpur-15

Neerag Dayal
23-Military Camp
Garhi Cantt-14

Gurmit Kaur
96-A, Darh Point
Sonepur-841101

Prabhat Nair
Golden Chaok
56-D, Munirka

Bindia Vishwas
18-A/C2, Navy-3
Kol;abha-33

Jyoti Dhanda
6/1,ShivalikNat
Aslamabad-31

Kavlsha Saluja
L.P.U. Universit
Phagwara-37

Monik i
Shop NO%-86/A
Mahilpiir-18

Mohan
adji Road

‘%-Kal

== ‘Panchkula-24

PermilaJain
Surya Colany
Garhwal-09

Pranita Gopal
A.F.C.GirlsHostel
Pachmarhi-32

Irfan Khan
3, Parkhi Gali
Sadar Bajar-10

AnubhavJoshi
2036/M, F.R.I.
Ballupor-09

Ashish Anand
IHM, Phase-11
Pusa-63

Vinag Dev

Army BoysHostel
Udhampur-31

AnitaNarawal
A-37/E, D.A.V.
Hoshiarpur-21

Abhisekh Rai
1029/3, Ramgarh
Patna-800014

Bhanu Pratap

16-3D, A.S. Colony

Jodhpur-15

Neera) Dayal
23-Military Camp
Garhi Cantt-41
Gurmit Kaur

96-A, Dhar Point
Sonepur-841101

Prabhat Neir
Golden Chowk

" Gurmit KTr "

Abhishek Rai
1092/3, Ramgarh
Patna-800014

Bhuna Pratap

16-3D, A.S. Colony

Jodhpur-15
Neeraj Dayal

None

None

N&rje
32-Military Camp* (
4

Garhi Cantt-14
-

96-A, Dhar'Point
1101

PrabhatdNair
Golden Chovy‘< 4

Sonipur-

56-D, Munirka 4 56D, Munirk

Bindia Vishwas
18-AI€2,"Navy-9

Monik ’ /
ShopNp.-163/A
Mahilpur-18

Sapan’ Mohan
35-Kakaji Road
Panchkula-42

PermilaJain
Surya Colony
Garhwal-90

Pranita Gopal
A.E.C.'Girls Hotel
Pachmarhi-32

Irfan Kahn
3, Parki Gali
Sadar Bajar-10

AnubhavJoshi
2036/M, F.R.I.
Ballupur-09

Ashish Anand
IHM, Phase-IlI
Pusa-36

Vinay Dev
Army Boys Hostel
Udhampur-31

AnitaNarwal
A-38/E, D.A.V.
Hoshiarpur-21

BindiaViswash
18-A/C2, Navy-3
Kolaba-33

Jyoti Dhanda
6/1,ShivalikNate
Aslamabad-31

KavisaSaluja
L.P.U. University
Phagwura-37

MonikaDevi
ShopNo0.-163/A
Mahilpuri-18

Sapan Mohan
35-Kalkaji Road
Panchkula-24

PermilaJain
Surja Colony
Garhwal-09

Pranita Gopal
A.E.C. GirlsHostel
Pachmarhi-32

Irfan Khan
3, Parki Gali
Sadar Bajar-10

Anubhav J oshi
2036/M, F.R.I.
Ballupur-90

Ashish Amand
IHM, Phase-11
Pusa-36

Ving Dev
Army BoysHotel
Udhampur-31

AnitaNarwal
A-37/E, D.A.U.
Hoshiarpur-21
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127.Y ogender Singh
I.M.A., Cadet-36
Prem Nagar-13

Y ogendar Singh
1.M.A., Cadet-36
Prem Nagar-13

VijendraPal
3, YamunaColony
Kasauli-173204

128.VijenderPal
3, YamunaColony
Kasauli-173204

129.RlIchaBisht Richi Bisht
A-42, Gale Road A-42, Gale Road
Dimapur-57 Dimapuf-57

130.AbhinavSen Abhinab Sen

97-A, Aurther Road
VivekVihar-51

Rakesh Kapri
36-Arya Samagj
Mulakote-262580

97-A, Aurther Road
Vivek Vihar-51

Rakesh Kapri
36-AryaSamg
Mulakote-262580

131.

132. Shavneet Kaur
D M C College

Ferozpur-27

Shavnet Kaur
D M C College
Ferozpur-27

133. Ravi Gupta Ravi Gupta
653/A, PIctNo.-3 653/A, PlotNo.-3
Tinsukia-47 Tinsukia-47

134. Amrit Sahota Amrit Sahota
23-Lepz Lane 23-Lepz Lane
Calgary-36214 Calgary-36241

135. Neetu Sarkar Neetu Serkar

Y ogender Singh
I.M.A., Cadet-36
Prem Nagar-13

Vijender Pal
3, YamunaCalony
Kasauli-173204

Y ogender Singh
I.M.A.,Cadet-63
Prem Nagar-13

Vijender Pal

Kasauli-137204

3, YamunaColony

Friends Colony, 61
LodiRoad-A6 3/l

FriendsColony, 61 Frien
Lodi Road-A6 3/1\ Ladi Lane-A6 3/1

Directions (136-140) : Below in
each question five words are given. meombinations(1), (2), (3) or (4) hasthe
Which of them will come at the third correct coded form of the given letter
place if arranged alphabetically as iE group and indicate it on the
the dictionary 2. - " answersheet. If none is correct coded
136.(1) Rapport 2 Rappﬁg # form, give(5) i.e. 'Noneof these' asthe
(4) Rapid

(3) Rapture ganswer.
(5) Rapacious ‘ . ! 141. BPVIMYS
137.(1) Shriek “(2) Shrink (1) 3176492 (2) 3174629
(3) Shrew (4l shrimp (3) 3179642 (4) 3174692
~(5)'Shrivel (5) None of these i
o
138.(1) Canopy %) y 142. GVBFSYM
(3) Canvas (4) dolr (1) 8753296, (2) 8735296
(5) Cantonment (3) 8735926 (4) 8793526
139.(1) In&tinct (2) Instalment (5) Noneof these
(3) pastill (4l nstead 143. SIPUMFB
(5)Instruct (1) 2410653 (2) 2415673
140.(1) Pardon (2),Parcel (3) 2147653 (4) 2417563
(3)} Parched (4) Parent (5) Noneof these
(5) Pérish 144. VYPSBUF
Direetions (141- 145): Thelet- (1) 7912350 (2) 7901235
ter group in €ach question below isto (3) 7910235 (4) 7912035
be codifled in the following codes : (5) Noneof these
Letter |B|F|S|Y|P|M|V|J|G|uU| 145 FPMJIBYV

(1) 5614397 (2) 5612397

Code |3(5/2|/9/16|7/4/8|0

Y ogender Singh Nae
I.M.A., Cadet-36.

Prem Nager-13

Vijender Pal Nae

3, YamunaColony
Kasauli-173204

Richa Bisht RichaBisht RichaBisht i \ore
A-42,GaleLane  A-42, GaleRoad A-42, Gale Ro:
Dimapur-57 Dimapur-57 Dinapur-57 b
- |
Abhinay Sen Abhinav Jen Abhingav Sen
97-A, Aurther Road 97-A, Aurther Road 97-A, Aarther Road_
Vivek Vihar-51 Vivek Vihar-51 Vivek Vihar-51
Rakesh Karpi Rakesh K apri RaKesh Kapri | Nae
36-AryaSamaj 63-AryaSamaj | | 36—Arya'&an*aj
Mulakote-262580 Mul akote—262§80-: ‘Mul akater62580
L A
Shavneet Kaur “Shauheet Kau havneet Kaur Nae
D M C College DM College D M College
Ferozpur-27 Ferozfur-72 Ferozpur-27
Raji Gupta Ravi Gupta Nae
,653/A, Plot 635/A, PlotNo.-3
Tinsukia-47 Tinsukia-47
Amrit Saho Amrit Sohata Nae
23-LepsLane 23-Lepz Lane
Calgary-36214 Calgary-36214
Negtu/Sarkar Neetu Sarkar Nae
Colony, 61 FriendsColony, 61 FriendsColony, 61
L'odhiRoad-A6 3/I Lodi Road-A9 3/1
i
‘ ou have to find out which of the (3) 5164397 (4) 5163497

(5) None of these
Directions (146-150) :Thene

item in each question below is to
classifiedinto oneof thefollowingfi
areas:

('1) Politics, (2) Social Issue

(3) Scienceand Health, (4) Sportsa
(5) Miscellaneous.

The number of the areas (1) ¢

(2) or (3) or (4) of (5) astliecasei
be isyour answer.
146. PCs will be used of fit atifi

limbs.

(1) Politics

(2) Social Issue'

(3) Science and Health
(4) Sports

(5) Miscellaneous

147. According to UN report pov

rates in India have risen.
(1) Politics

(2) Social Issue

(3) Science and Health
(4) Sports

(5) Miscellaneous
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148. Five Indians in the World XI
Cricket Team.
(1) Politics
(2) Social Issue
(3) Science and Health
(4) Sports
(5) Miscellaneous
149. Escalating food prices unite Op-
position Political Parties.
(2) PoliUcs
(2) Social Issue
(3) Science and Health
(4) Sports
(5) Miscellaneous
150. Delhi records the coldest day of
the season.
(1) Politics
(2) Social Issue
(3) Science and Health
(4) Sports
(5) Miscellaneous

ENGLISH LANGUAGE

Birections (151-165) : Read the
following passage carefully and answer
the questions given below it. Certain
words/phrases have been printed in
bold to helpyou locate them while an-
swering some of the questions.

Once upon a tirhe, there was a
roya elephant which used to reside in
the premises of the King's palace. The
elephant wasvery dear to the king, so
hewaswell-fedandwell-treated. There
was also a dog who lived n fg
elephant's shed. Hewasvery we:
skinny. He was always fascinatéd by
the smell of rieh sweet rice being fed
totheroyal elephant. 3

Oneday, the dog €auld nolonger:
resist the aroma of the ri@e and some-
how_managed to sneak “into the
elgphant's shed. He ate tHelgrains of

rice that feil from thefel epant's
mouth.' He liked the rice so fnuch, that
he stanted going there daily to eat the

rice. For days, the huge elephant didn't
notice thessmall dog as ; was busy

enjoyingthe deliciousfoodk Gradually,
the dog @rew bigger and gtronger eat-
ing such kieh food. Finally the el ephant
noticed hi
the food. ol
The eleghant enjoyed the Com-
pany of the dog and started sharing
his food with him. They also started
spending timewith each other and soon
became good friends. They atetogether,

d-allowed him accessto

slept together and played together.
Whileplaying, the elephant would hold
the dog in his trunk and swing him
back and forth. Sobn neither of them
was happy without the other. They
became great friends and didn't want
to be separ ated from each other.

Then one day, aman saw the dog
and asked the elephant-keeper, "l want
to buy thisdog. What price do you want
for it?' The elephant-keeper didn't own
the dog but sold it and extracted a sum
of money from this deal. The man took
thedogto hishomevillage, which was
quite far away. The king's elephant
became very sad after this incident.
He missed his friend a lot and started
neglecting everything. He didn't want
to do anything without his dear friend,
so he stopped eating, drinking ane
bathing.

Finally, the eleph
ported this to the ki
didn't mention anythi
Theking had awise

ter, "Go to the elephant's shed andfind
out the reason for the elephant's con-
dition". Thegintelligent minister wgntto
the elephan ed and found the el-

ephant. veryf sad."He examined the el-
ephan ed the elephant-keeper,
nothing wrong with this

There i
el &Jﬂiﬂ's body, then why does he look
8'sad ? | think this elephant is grief

. stricken, possibly due to the loss of a

el
aid ,,

dear friend. Do you know if this el-
ephant shared a close friendship with
anyone?"

-

‘ The elephant-keeper said, "There
was a dog who used to eat, sleep and
play with the elephant. He was taken
by astranger three days ago". The min-
ister went back to the king and said,
"Y our majesty, in my opinion, the royal
elephant is not Sick, but he is lone-
sorae without his dear friend, the dog".
Thekingsaid, "You'reright, friendship
is 6ne of the most wonderful things of
life. Doyou know where that dogis ?'

The Minister replied, "elephant-
keeper has informed me that a stranger
took him away and he doesn't know
his whereabouts". The king asked,
"How can we bring back my elephant's
friend and make him happy again?' The
Minister suggested, "Your Majesty,
make adeclar ation, that whoever has
the dog that usedto live at the royal
elephant's shed will be penalized". The

king did the same and the man who
had taken thedog, instantly turned him
loose when he heard the proclamation.
As soon as hewas freed, the dog
ran back as fast as he could to the
elephant's shed. The elephant was so
delighted to see the dog that he picked
his friend up with his trunk and'swung
him back and forth. The'd ged
his tau, while the ele@t‘g eyes
sparkled with happiness, I 'he ki was
content to see thelel ephant happy gnce
again and rewar the minister.for
hiswisejudgenent.
151. What wasthe Ministers diagno-
sis of the elephantis condition ?
« (1) The elephant hated his keeper

(2) The elephantwas lonely

(3) The elephant was starving

(4), Theelephant had hurt hisleg
and was in pain

(5) None of these

What method did the Minister

suggest to king to get back the

dog?

(1) To declare that whoever had
that particular dog would be
punished

(2) To keep abowl of ricefor the
dog in the.elephant's shed so
that he could be lured back
to the palace

(3) To command the elephant -
keeper to look for the dog in
the village

(4) To persuade the elephant to
call out to the dog

(5) None of these

Why had the elephant become

very sad ?

(1) He no longer got his daily
bow! of rice

(2) Hewas unhappy with the king
for having sold the dog

(3) He missed his friend the dog

(4) He was sold t6 an unknown
man by his keeper

(5) None of these

What did the el ephant-keeper do

to the dog ?

(1) He sold the dog to an un-
known man for a price

(2) He hit the dog as the dog was

, eatingthe elephant'sfood

(3) He killed the dog

(4) He complained to the King
about the dog

(5) None of these

152.

153.

154.
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155. Which of the following would be
the most appropriate title for the
passage ?

(1) Friends and Enemies

(2) ThePlayful Dog

(3) The King and the Minister
(4) The Elephant-keeper

(5) The Bond of Friendship

156. Why was the elephant taken care
of?

(1) Hewasavery special elephant
as he could talk to dogs

(2), Hewasavery loyal elephant

(3) He was the strengest elephant
in the kingdom

(4) He was weak and the King
had alot of sympathy for him

(5) The elephant was very dear
totheking
157. Why did the dog start going to
the elephant's shed everyday ?
(1) He liked the elephant alot and
wanted to become friend with
him

(2) Hewas being fed by the King
everyday

(3). Hewasfond of the elephant's
shed

(4) He liked the taste of the rice
being fed to the elephant.

(1) Only(A)
'(2) Only (A) and (C)

(3) Only (A) and (B)

(4) Only (B)

(5) All thethree (A), (B) and (C)

Directions (161 - 163): Choose
the word/group of words which is
most simllar in meaning to theword/
group of words printed in bold as used
in the passage.
161. EXTRACTED

(1) pulled (2) inserted

(3) wring (4) dug out

(5) received
162. DECLARATION

(1) pact (2) praise.

(3) announcement 5

(4) writ , (5) resolves
163. KEEN A

(1) shallow

(3) concentrated,

(4) deep

Directions ( ho
the word/group off words iclfis
most opposite in meaningto th rd/

group of words printed in bold
inthep e,
164. RES

&
|)gi@cin
¥ "y

used

(5) None of these ' (4) try oug
158. What did the dog do once hewas
set free ? 65! SEPARATED
(1) He atericeto his heart's con- (1) stuck (2)united
tent ¥y
(2) He thanked the king For riis':‘ (2) estrariged - (4) bound
kindness sy (Dioined

(3) He ran away from the(u ng- "’ofthe

15

dom to a place faraway k
(4) Heran back‘t‘pl s friend the
elephant
What of the followifigh can defi-
nitely be said about thg el ephant-
keeper ?
(A) Hewas greedy.
(C) He was brave.
@foniy{A) (2 Only (B)
3)fonly (A) and(B),
(4) '©nly (B) and(C)
160. Which gfthe following can defi-
nitely be said about the king ?
(A) He was compassionate.
(B) He was deceitful.

" (5)None of these
(B) Hewas insensitive.
(5) AIF(A), (B) and (C)
(C) Heloved animals.

Directions (166 - 170): Which
phrases(1), (2), (3) and (4) given
bel 6w each sentence should replace the
phrase printed inbold in the sentence
to make it grammatically correct ? if
the sentence is correct as it is given
and 'No coirrection is required’, mark
(5) as the answer.

166. Trisha could not solve the prob-
lem at all and was at her wit's
ending.

(1) her wit's end

(2) the wit ends

(3) her witty end

(4) the wit end

(5) No correction required

It's a small theatre and the seats
are uncomfortable, but the sav-
ing grace is that the air condi-
tioningisgood.

(1) graceto save

167.

£
(2)please |

(2) gracing save

(3) saver grace

(4) save to grace

(5) No correction requiied
168. Tarun had to prepare the dod

ment for hismeetin” urgently bu

hewashardly pr essecqur tii

(1) hard pressed for timély
(2) hard pressed fo#‘nq
(3) hardly press tgtime i
(4) hard préssifg to tirr%q. /
(5) No corgection required
169. Suraj Iiecﬁom his teethitoj

out of the'tense Situation with |
boss. gy ¥
1

“ (1) fies for hise(tgeth

(2)e'to his teeth

©)) Iigi through his teeth

(4)lied from his tooth

(5)iNo correction required

170. Satish lay in bed wide awaken
as he was wofried about his e
ams starting the next day.
(1) widen awakening
(2) widely awake
(3) wide and awake
(4) wide awake
(5) No correction required
Directions (171-175) : In esch
question below, a sentence with faur
words printed in bold type is given.
Thesearenumberedas(1), (2), (3) ad
(4). Oneof thesefour wordsprinted i
bold may be either wr ongly speit or
inappropriate in the context of the
sentence. Find out the word whichis
wrongly speit or inappropriate if ay.
The number of that word is your ar
swer. If all thewords printed in bold
are correctly speit and also appropri-
ate in the context of the sentence, mak
(5), i.e., 'All correct' asyour answer.
171. Peoplewentcrazy (1)/ whenthe
musician along with his friend,
(2)/tooktothe Staging (3)/ ad
belted out popular (4) /tracks. All
correct (5)
For agrowing number of coupals,
(1)/ adoption is not a helpless
compulsion (2)/ but addiber-
ate (3)7 and often noble (4)/
choice. All correct (5)
On two consecutive (1)/ nights
the two greatest icones (2)/ of
showbusiness were honoured
with unprecedented (3)/ affec-
tion. (4)/ All correct (5)

172.

173.
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174. We are so busy looking at
modiocrity (1)/ thatwhen atruly
outstanding achievement (2)/
stares us in the face we resort
(3)/ to the same terms of praise.
(4)/ All correct (5)

175. Theunlikely migration(1)/was
offlcially (2)/ explalned as a
move to meet expanding (3)/
business oportunities. (4)/ All
correct (5)

Directions ( 176 - 180) : Rear -
range the following six sentences (A),
(B), (C), (D), (E) and (F) inthe proper
sequence to form a meaningful Para-
graph; then answer the questionsgiven
below them.

(A) He immediately acknowl-
edged Mohan's good work
and invited himto hishome
for dinner.

One day awealthy merchant
sent his son's bicycle to the
shop for repair.

The next day the merchant
cameto claimthebicycleand
noticed that it was shiny.
After repairing the bicycle,
Mohan cleaned it up and
made it ook new.

Once upon atlme, therewas
a boy named Mohan who
worked as an apprentice in
abicycle Shop.

Other apprentices in the

®

©

(D)

®

)

shop laughed at Mohan fl-_)rl:'L

ho
ter

dbe
ear-

(2)B |

the second sentenci after rear-
(3)Cr

the THIRD sentence

3C 4D

doing unnecessary work..q
rangement ? 3
28
ok
(5)F
rangement?
(5)

176. Which of thefollowing sho
(DA
1 Whi(:hofthefollowind'r
(DA #
178. Which ofthefollowing should be

the FIRST sentence after rear-
ran ent.?

(DAL, (2)B

®»c F @b

(5)E

179. Which ofthefollowing shouldbe
the LAST (SEXTH) sentence &-
ter rearrangement ?

F
dbe

(DA (2)B
(3)D 4 E
(5)F

180. Which of thefollowing should be
the FOURTH sentence after re-

arrangement?

(DB (2)C
(3)D 4 E
(5)F

Directions (181 - 190) : Read
each sentence to find out whether there
is any grammatical error or idiomatic
error init. Theerror, if any, will bein
one part ofthe sentence. The number
of that part is the answer. If thereis
'Np error', the answer is (5). (Ignore
errors of punctuation, if any.)
181. Inabout five minutes, they w:

(1)/ cover the distan

Id

fr the

of nationalist egos.(4)/Ne error (5)
183.

langing to adopt achild. (4)/No
8b‘i\rro 5)

184 /A ccordance to a new study (1)/

- taking Steps to remain healthy

and young (2)/ may help delay

(3)/ the onset of Alzheimers dis-

ease. (4)/ Noerror (5)

Aday after hewasdiagnosed with
(1)/ swine flu, preventive mea-
sures were put in place (2)/ to
ensure that otherswerenot (3)/
affected by thedreaded virus. (4)/
No error (5)

The administration hasconclusive
(1)/ that it isretailerswho are
(2)/ responsable for upsetting (3)/
thecity'shousehold budget. (4)/
No error (5)

187. The assurances, unfortunately,
(1)/ remained on paper, as (2)/
neither the Centre or the State
initiated Steps (3)/ for the devel-
opment of the backward region.
(4)/ No error (5)

Sediment deposit along the coast
(1)/ may be the primary reason
for (2)/thechangein conditions,
(3)/butalotmoreremainstobe
understand. (4)/ No error (5)

A,
185.

'

186.

188.

Thef*w er Superstar rec v
(1)/ 'i%nﬂorphanage, (2)f fuel-
ling ulation that (3)/ was

189. A committeewill besetup (1)/to
explore pros and cons by (2)/ a
common fee structure, and will
(3)/ take afinal decision on it

withinaweek. (4)/ Noerror (5)

Theinfectionwhich causes(1)/
gums to bleed and teeth to fall
out (2)/ results from'the build-

up of (3)/ a partiti teria
that is common é‘trhq most

mouths. 44)/ No egror (5)

Directionsi(191 - 200)47 I g the
following p there are blanks,
each of Whichiﬁas been nump?él:ed.
These numbets'are printed below the
passage and agai n? eageh, five words
are.suggested, on€ of which fits the
blank @ppropriately. Fi nd out the ap-
propriate word in each case.

Once ‘upon a time there was a
prince who wanted to marry a prin-
cess; but she would have to be areal
princess. He (191) all over the world
to find one, but nowhere eould he get
what hewanted. One evening during a
terrible storm; there was thunder and
lightning, and the rain poured down in
torrents. Suddenly a knpcking was

2) at the palace door, and the old
King weht to open it. It was aprincess
Standing out there. But, good gracious!
What a sight the rain and the wind had
made her look. The water ran down
her hair and clothes; into the toes of
her shoes and out again at the heels.
And yet she insisted that she was a
rea),princess. Well, we'll soon (193) out,
thought the old queen. But she said
nothing, went into the bedroom, took
all the bedding off the bedstead, and

(194) a pea on the bottom; then she
took twenty m'attresses and laid them
on the pea, and then twenty quilts on
(195) of the mattresses. On this the
princesshad to lieall night. Inthe (1961
shewas askedhow she had slept. "Oh,
very badry!" said she. "l scarcery closed
my eyes all night. Heaven only knows
what was in the bed, but | was lying
on something hard, as a (197) | am
black and blue all over my body. It's
horrible!" Now they knew that she was
areal princess because she had (198)
the pea right through the twenty mat-
tresses and the twenty quilts. Nobody
but areal princess eould be as (199)
as that. So the prince took her for his
wife, for now he (2001 that he had a
real princess.,

190.

191. (l)called (2)tour
(3) sent (4) saw
(5) travelled
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192.

193.

194.

195.

196.

197.

198.

199.

200.

(1) made
(3) heard
(5) sounded
(1) assure
(3)judge
(S)try

(1) drew
(3) placed
(5) stitch
(1) top

(3) bottom
(5) middle
(1) morning
(3) room
(5)dark

(1) vengeance
(3) cause
(5) time

(1) slept
(3) located
(5) found
(1) worried
(3) irritable
(5) pretty
(Ntrust
(3) wanted
(5) knew

(2) feit
(4) seen

(2) find
(4) mark

(2) flung
(4) cooked

(2) head
(4) between

(2) dinner
(4)fields 1

(2) price r;
| -}
(4) result y ‘ ( d ‘.)

(2) feit '
(4) carried

(2) rough

4 Tsiti
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ANSWERS

1.(1) 2.(5)

5.(2) 6. (4)

9. (3) 10. (1)

13.(3) | 14.(3)

17.(5) 18. (5)

21.(1) | 22.(3)

25.(2) | 26.(1)

29.(4) | 30.(4)

33.(2) | 34.(2

37.(1) |38.(2)

41.(4) | 42.(2)

45.(1) | 46.(3)

49.(5) | 50.(1)

53.(2) | 54.(1)

57.(5) | 58.(2)

61.(3) | 62.(4)

65.(4) | 66.(2)

69.(5) | 70.(2)

73.(5) | 74. (1)

77.2) | 78.(3)

81.(2) | 82.(4) 3

85.(3) ) [87.(5) [8& (1)

89. (4) M 91.(5) | 92.(3)

93. ( . (1) ]95. (2 96. (1)

97. (5 .2 [99.13) |.400.4

10 @) | 102. (1) | 103.(2) [[104.(3)

10541) | 106. (3) [ 107. (4) [ 108.(2)
9.(4) | 110.(2) [ 111.(3) [ 112.(1)

113.(3) | 114.(4) | 115. (1) [ 116.(2)

117.(1) | 118.(3) | 119. (4) [ 120.(5)

121 (4) [ 122.(4) | 123. (3] [ 124. (1)

125. (2) [ 126. (1) | 127.(2) | 128.(4)

129. (3) [ 130.(2) | 131.(1) | 132.(2)

133. (1) | 134.(3) | 135.(5) | 136.(2)

137.(4) | 138.(5) | 139.(3) | 140.(1)

141. (4) | 142.(2) [ 143.(1) | 144.(5)

145. (3) | 146. (3) | 147.(2) | 148. (4

149. (1) | 150. (5) | 151.(2) [ 152.(1)

153.(3) | 154. (1) | 155.(5) | 156. (5)

157. (4) | 158. (4) | 159. (3) | 160. (1)

161.(5) | 162. (3) | 163. (4) [ 164. (1)

165. (2) | 166. (1) | 167.(5) | 168.(2)

169. (3) | 170. (4) | 171.(3) [ 172. (1)

173.(2) | 174.(5) | 175. (4) | 176.(2)

177.(4) | 178.(5) | 179. (1) | 180.(5)

181.(2) | 182.(3) [ 183.(2) [ 184.(1)

185.(5) | 186. (1) | 187.(3) [ 188. (4)

189. (2) | 190. (5) | 191.(5) [ 192. (3)

193.(2) | 194. (3) | 195. (1) [ 196. (1)

197. (4) | 198.(2) | 199. (4) | 200. (5)
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EXPLANATIONS

1. (1) The code has been ‘generated
by writing the letters in reverse
order '

OMNIBUS = SUBINMO
. Therefore,
'TROUBLE = ELBUORT
2. (5)
3 1518 16 15 18 1 20 5
.o R P O RYA I
o
3.3B OND D: A2 -E
1 Pl g I < IR L [
9 ® 3 5 5 @7 2
Therefore,
Z ONE
| G 1< LR
7 32
4. (4

1{{2]{ 3 4 |5{|6|17 8 9
E|[Dj U C[A||IT]!I O N

Meaningful word = DATE

5.(22.5 2!6/9 1 8 3
9 8|6l58.3 .2 1

6. (4)
C 20 km B
10 km 10 km
< ' L
E™5km D A
" Required distance
=AE =AD + DE = 20 km + 5 km
=25 km

7.(2)12 B 20 A 4 Q10 F30=?
=?2=12x20+4-10+30
=?=12x%x5-.10 + 30
=?=90-10 =80

8. (1)

1 14'8 8.7 1"29 9
5th to the left of 2

9. (32 Y
Z Y
ZYX

Z Y X

(z] Y X

G 5m

10. (“J +6_p +6

(11-15):
Friends | City Modes of
Transport
12 Chandigarh | Train
Q Raipur Train
R Dehradun Car
S Bengaluru | Aeroplane
T Jaipur Car

11. (5) Q travelled to Raipur by Train.

12. (5) S-Aeroplane is correct combi-
nation.

13. (3) R travelled to Dehradun by
Car.

14. (3) Riravelled to Dehradun.

15. (2) Raipur - Car is not correct.
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16.

(1) 1 C

2 A
3 G
4 B
5 E
6 P
7 D

17. (5) From both the statements

18.

L has three children.
(5) From statement I

Asha's birthday may be on 21st,
22nd, 23rd or 24th.

From statement 1

Asha’s birthday may be on 24th,
25th.....

From both the statements
Asha’s birthday was on 24th

19. (3) From statement [

F A D E

A 1 1

6 + 1 + 4 + 5 = 16

From statement 11

F A D E

L 1 L KA

6 + 1 + 4 + 5 = 16
20. (2)

slngln,r;appn:clal)lc—) col tip

|<Iancmg| good

-->mln

singing and ||:Iam:ingl > tip mnp_ 3

The code for ‘good’ is ‘min’.

(21-23) :

| Sociology Top

E Education
At.('ounlancv
English

Economics

8 130{{0111

21. (1) The books on English, Econom-

22,

23. (3)

ics and Psychology are between
the books on Accountancy and
Hindi.

(3) The beok on Economics is in
between the books on English
Psychology.

English.
Paychology
Hindi |
Sociology
Economics
Education

Accountancy |

(24 -

8

29):

i) Al flowers are petals — Uni-
versal Affirmative (A-type)

(i) Some pens are erasers — Par-
ticular Affirmative (I-type)

(iii) No bed is boat — Universal
Negative (E-type)

(iv) Some beds are not boats —
Particular Negative (O-type)

(5) All flowers are petals.

\

All petals are boxes.
A + A = A-type of Conclusion
“All flowers are boxes”.
Conclusion II is Converse of it.

All petals are boxes.

\

All boxes are buildings.

A+ A = A-type of Conclusion
“All petals are buildings”.
Conclusion II is Converse of it.

All boxes are buildings.

\

All buildings are trucks.

A + A = A-type of Conclusion
“All boxes are trucks”.
Conclusion I is Converse of it.

(2) Some pens are erasers.

\

All erasers are desks.
I + A = I-type of Conclusion
“Some pens are desks”.
Conclusion 1I is Converse of it.

(1) Some dresses are uniforms

\

All uniforms are clothes.
I+ A = I-type of Conclusion
“Some dresses are clothes”.

All uniforms are clothes.

\

All clothes are malterials.

A+ A = A-type of Conclusion
“All uniforms are materials”.

bome dresses are clothes.

\

All clothes are m'lt erials.

I + A = I-type of Conclusion
“Some dresses are materials”.
Coneclisinn |is Canverae af it

27.

31

8

(5) Some stems are trees.
& ’
All trees are forests.
I + A = I-type of Conclusion
“Some stems are forests”.

Some forests are roads.

All roads are petals.

I + A = [-type of Conclusion
“Some forests are petals”.

(4) All the four Premises are Par-
ticular Affirmative (I-type).

No Conclusion follows from two
Particular Premises.

Conclusions 1 and Il form

_Complementary Pair. Therefore,

either I or 111 follows.
(4) All tables are beds.

No bed is boat.
A + E = E-type of Conclusion
“No table is boat".

Some boats arc lakes.

All lakes are ponds.

I + A = I-type of Conclusion
“Some boats are ponds”.
Conclusion Il is Converse of it.
@M WDI A Q

$ 3L LAdd

# % 4 2.8 #

- Condition (i) is applicable.

MA MP WQ U
Lok bbb
* # 6 % © *

“Condition (ii) is applicable.
.38 MR Z F A

L P A A e
‘8 # 7 9 $ @
Condition (iii) is.applicable.

2)JR M S P A K
RAE S T SN £
7 # @ 6 8 7

Condition (i) is applicable.

22Q F P K U Z
" R R P P (R
© $ 6 3 5 ©

Condition (i) is applicable.
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R S 1
I &l
2 4 # 7 @ 3
Condition (iii) is applicable.
38. (3)

| Consonant| Number| Symbol |

Such combinations are :

E7al

37. (1) 8th to the left of the 13th from
the left means 5th from the left,
ie., R.

38. (2) According to question the new
sequence would be :

QRTS!UFACEG‘HWK

10th from the right end

30, (2) 9257285 859
# +6 1 +6" 5 +6 G
T +6 J +6E F +6 *
40. (1) '

LVoweI | Consonant | Consonant ]

There is no such combination.
41. (4) 973 = 793; 825=> 285;
461 =» 641; 592 = 952; -
789 = B79
Lowest number = 285
(2) 973 = 937; 825= 852;
461 = 416; 592 = 529;
789 = 798
Lowest number = 416
4-1=3
43. (5) Third highest number = 789
Lowest Number = 461
Difference = 789 - 461 = 328
f2) Third highest number = 789
Sum=7+8=15
48. (1) 973 = 379; 825 = 528;
461 = 164; 592 = 295;
789 = 987
Second lowest number = 295

46. (3) In each subsequent figure the
leftmost design moves to the
rightmost position and the design
which moves to the leftmost posi-

. tion gets inverted. :

47. (4) In each subsequent figure the
top design moves to the bottom.
The line segment with arrowhead
is inverted after every two figures.
The line segment with curve is

<

inverted in each subsequent fig-
ure. The third design is inverted
in a set order in each subsequent
figure.

48. (2) The big angle rotates through
90° and 45° anticlockwise alter-
nately while the small angle ro-
tates through 90° anticlockwise
and 180° alternately.

49. (5) In each subsequent figure the
smaller design move along the line
segments and after three figures
the designs get inverted.

B0. (1) After every two figures one new
design is introduced at the upper
left corner arid the designs move
respectively one-half and one step
in anticlockwise direction after
being rotated through 90° clock-
wise. :

95.6 % '91(?:3 Zo?
9?.-56

= 915.9-256 _ g?

= Ql3.34 _ g7

51. (4)

£ ?=13.34
6500 486
52.(3) ? = _“‘*"100:36 = 8775

53. (2) 146.6521 + 72 = 732.2921
= 72 = 732:2921 - 146.6521
= 585.64‘ ¥

= 2.2 /585,64 = 24.2
576
B4. (1) —5~x114 = 8208

o 576 x114 s
=T 8208 -
55.(4) ? = 528 + 66 = 8

25
56. (1) 'g>¢?=6265

6265
= 7= ——=1253
5.
« 42x 42 %26
87.(5) ? = —6'3—— = 7280

58.(2) ? =384 x 12 x 2 = 9216
59.(5)? = ———

60. (2) ? = /2704 x /2209
=52 x 47 = 2444 :
61. (3) 7387 - ? = 3763
= ? = 7387 - 3763 = 3624
62. (4) ? = 3584 + 4440 = 8024

850x36 592x?
6.4 =50 *"100 - 20

592x7? _
100
592 x ?

= W=750-—306=444

= 306 + 750

444x100 o
592

=P=

2650 x 64 i 320 x 40
100 100 -
= 1696 + 128 = 1824

65. (4) ? = 486 + 80 - 59 = 507

1827

64.(1)? =

X?=162.4

8
66.(2) ¢
162.4 x 36
ol AT L
R 827 o

67. (172« 1208 _og
W) 2= on3

68.(3) ? = 56.21 + 2.36 + 5.41 + 1.5
-21.4=44.08"
32065
9.5 — o0, _+.’_:_j= 686
= 208 + ? = 686
= ? = 6862+1208 = 478

-

83250 7 o
70.(2) ——£74%25
aelirry
,_ 83250 _
== 7ax25

71.(1) ? = J7724 = 88

2% 35 Hisn
72. (3) W =24‘2.55
t.; %
24255 %100
O 35
73. (5) 2 = 1256 + 4813 + 765 = 6834
74.(1) 88 + 72 = 169
= 92 = 169 - 88 = 81

2170
35
=432 + 62 = 494
76. (1) Let the mumber be 3x, 4xand
5x respectively.
S3x+ B5x=4x+52= 4x =52

52 !
e B
- xm
. Largest number

=5x=5x13=65

= 693

75.(1)? =432 +
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729 - 625]

=>3l2=P{ 625

p. 312x625 o
N s d0a T
Principal x Timé x Rate

100

1875x2x 8
I 100

. (3) Let the breadth of the original
rectangle be xcm.
- Length = (x + 7) cm.
According to the question,
xx+7)=(x+7-4) (x+3)
=22 +Tx=x2+6x+9
=x=9 :

*. Perimeter of original rectangle

-2{x+7+x] 4x + 14
=4 x9+ 14250 cm.

= Rs. 300

-~

79. (3) Let the number be 10 x + y

where x < y.- i

NXFYy=12°. 7 . 1
and 10y + x- 10 x- y = 54
=y-x=6 (i)
Adding equations (i) and (ii),

y=9 :

From equation [1}, x=3

.. Number = 39-

- X
80. (4) Let the original fraction be “y‘ A

L 2x=y+2
=2x-y=2 ? ..(i)

x+3 _2
. and. ey
=3x+9=2y+6
=3x-2y=-3 ° i)
By equation (i) x 2 - (i), we have
4x-2y-3x+ 2y =4+3
=>x=7
From equation (i),
14-y=2
=y=14-2=12

84.(4) ?? =

7

12
Note:ltis proper to solve such a
question by oral calculatitn tak-
ing the alternatives into consid-
eration.

Orlglnal fraction

81. (2) Let the number be x.

4x 2

?—§x+ 10

4x 2x
e T
=g, -8

12x - 10x
=i An

10x15

=10

=75

=x=

82. (4) Total cost price

=200 x 10 = Rs. 2000
Total selling price = 12 x 195

= Rs. 2340

.. Profit per cent

2340 - 2000
= 2000
83. (1) The pattern-of the numberse-
ries is :»
25+ 1'x9=25+9=34
34 +2x9L34 + i18=52
52+3x9=52+27=79
79 +4x9=79+36=115

115+5x9=1154+45 =
144 x 49 '

x100 = 17%

S ?=144x49=12x7 =84

85. (3) Second even number

=—=84
3

. Required sum = 82 + 86 = 168

86. (1) Saving percentage
‘= (100 - 55) % = 45%

If the income of Ajay be Rs. x,

then . 29X _ 57000
0160 - - ;
27000 x 100
= x= ?=RS.60000

- 87. (5) The word ‘CRISIS’ consists of

six letters in which 'I' and ‘S’ come
twice each.

. Number of arrangements
6] 6x5x4x3x2xl

= 21217 2x2

=180

88. (1) Area of the remaining region

22
= (40 x 40 - x14 x14) sq. metre

= 1600 - 616 = 984 sq. metre
89. (4) Let the breadth of the rectangle

be x metre.

- Length = 3x metre

27540 _
L3xxx= 36720
= x2=25

= x=5 .

-~ Perimeter of the rectangle

=3 (Bx+X=8x

=8 x 5 = 40 metre
90. (2) Decimal equivalent of each

7
=35

8
fraction ‘5= 1.6 ; )

=1.25

| o

91.(5) Let the present ages of
'Chetana and Shikha be 5xand 7x
years respectively.

After 7 years,

5x+7 _ 11
TX+7 14

Bx+7: 11
x+1 2
=11x+11=10x+ 14
='x=3
. Required difference
=7x-5x=2x=2x3 =6 years
92. (3) M,D; = M,D,
= 13 x36 =18 xD,

13x 36
18

=»D,= = 26 days

P e
88.(3) X" =75.46

T546X7 i
22 . *

=r= /2401 =49 cm.

. .Circumference of the circle

e =

=2nr= 2>(-2_:_?—X4.9

= 30.8 cm.
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94. (1) Ratio of the equivalent capitals

of Girish, Vijay and Ankush for 1

month

= 45000 x 12 : 9 x 60000 :
6 x 90000 .

45x 12:9 x 60 : 6 x 90
1iz-12 1

. Girish's share

1
= Rs. {E x 16500]
= Rs. 5500 )
95. (2) Required average age

42 + 49 + 56 + 63 + 35
5

245
e 49 years

‘88. (1) Part of the tank filled in 1

1 1

minute = -13 + 56 74'6

4+2-1 5 1
- 40 ~ 40 8

-. Hence, the tank will be filied in
8 minutes.

97. (5) Required value
3450 % 40x 50

“ Tyopkige (=% 890

98. (2) Amount received by each per-
586700
. 2b
= Rs. 23468
99, (3) Total possible outcomes

son =

Total favourable outcomes

=7¢, X13¢, =7 x 13 = 91

91
. Required probability = '1 90

100. [4] Data are inadequate.
138. (2) Alphabetical order of words :
5. Rapacious
l
4. Rapidly
L B
2. Rappel
L
1. Rapport
ik
3. Rapture

137. (4) Alphabetical order of words :

3. Shrew
I

1. Shriek
A

4. Shrimp
l

2. Shrink
)

5. Shrivel

138, (5) Alphabetical order of words :

4. Candour
1 E= 5
1. Canopy
{
5. Cantonment
_ \’ ;
3. Canvas
d
2 Canyon

1392, (3) Alphabetical order of words $

* 2. Instalment *
4
4. Instead
4
3. Instill
1
< 1. Instinct
ey
5. Instruct

140. (1) Alphabetical order of words :

4
3. Parched

|
»

1. Pardon

© 4
4. Parent

i
5. Parish
14, (4 B P
1 A
31
142.(2) G V
&
8 7
143.(1) S J
&l
2 4
144.5) V Y
Ll
7 9
145.3) F P
4
5 1

REZ - ECTV TR TN &<
BAELRNEDO U ET R &G
WEWWEWN 2R DO 2
OO EECU O &0 =
~q<—-<m<—'=:m(—mm<—g.w<—m

148. (3) The news item is related to
Science & Health. '

147.(2) The news item is related to
Social Issue.

148. (4) The news itemn is related fo

‘Sports.

149. (1) The news item is related to
Politics.

150. (5) The news item can be classi
fied into Miscellaneous.

151.(2) The elephant was lonely

152. (1) To declare that whoever had
that particular dog would be pun-
ished

153. (3) He missed his friend the Dog

154. (1) He sold the dog to an unknown
man for a price

1585. (5) The Bond of F‘riendshlp

156. (5) The elephant was very dear to
the king.

157. (4) He liked the taste of the rice
being fed to the elephant

158. (4) He ran back to his friend the
elephant -

158. (3) Only (A) and (B)

160. (1) Only (A)

161. (5) The meaning of the word Ex-
tract (Verb) as used in the pas-
sage is : to obtain information
money etc. oflen by taking it from
somebody. .

Hence, the words"extracted and
received are synonymous.

162. (3) The meariing of the word Dec-
laration (Noun) as used in the
passage is awritten or spoken
statement:

Hence, the words declaration and
announcanent are synonymous.

163. (4) The meaning of the word Keen
(Adjective) as used in the pas-
sage is : strong or deep.

Look at the sentence :
He took a keen interest in his
grandson'’s education.

Hence, the words keen and deep
are synonymous. '
164. (1) The meaning of the word Re-

sist (Verb) as used in the pas-
sage is : to refuse to accept some-
thing and try to stop it from
happening;oppose; to use force o
stop something from happening.
The idiom Give in means : to ad-
mit that you have been defeated
by somebody/something.

Hence, the words resist and give

. Imn are antonymous.”
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165. (2) The meaning of the word Sepa-
rate (Verb) as used in the pas-
sage is : to divide into different
parts or groups; to move apart.
The word Unite (verb) means : to
join together with other people in
order to do something as a group.
Hence, the words separated and
united are antonymous,

166. (1) Idiom ‘be at your wits' end
means : to be so worried by a
problem that you do not know
what to do next.

Hence, ‘her wits’ end’ qhould be
used:

167. (5) No correction required

168.(2) 'The word ‘hard’ is an Adjec-
tive/Adverb. The word ‘hardly’
means : almost no, almost not;
used to suggest that something
unlikely. Hence, ‘hard pressed for
time’ should be used.

169. (3) Idiom ‘lie through your teeth’
means : to say something that is
not true at all. Hence, ‘lied through
his teeth’ should be used.

170.(4) The group of words ‘wide
awake’ is a cOrrect idiomatic ex-
pression. r

<% -

171.(3) The appropriate word should
"be : stage.

*172.(1) The correct spelling is :

couiples..
173. (2) The correct spelling is : icons.
174. (5) All correct
175. (4) The correct spelling is : oppor—

tunities.
176.(2) B 177.4D
178.(5)E 179. (1) A
180.(5) F

181. (2) Replace group of words ‘cover
the distance from the road to the
point’ by ‘cover the distance by/
along the road to the point".
Look at the sentences :

He was walking along the road
when he was attacked.
It takes about five hours by road.

182. (3) Replace group of words ‘the
necessary (Adjective) of pursuing
pedce’ by ‘the necessity (Noun) of
pursuing peace’. '

183. (2) The sentence  shows a past
event. Hence, it is proper to use
Simple Past. Hence, replace
group of words ‘visit an orphan-

~age’ by ‘visited an orphanage’.

184. (1) Here, ‘In accordance with/Ac-
cording to a new study’ should be
used. It is a correct idiomatic Ex-

. pression.

188. (5) No error

186. (1) The structure of a sentence in
Present Perfect Tense is
Subject + have/has + V, (Past
Participle)

Hence, ‘The ‘administration has
concluded’ should be used.
187.(3) Neither ..... nor is a correct
connective. Hence, ‘neither the
Centre nor the state initiated

steps’ should be used.

188. (4) Here, ‘but a lot more remains
to be understood (V,)’ should be
used.

189. (2) Here, 'to explore pros and
cons of should be used.

190. (5) No error 191.(5) travelled
192. (3) heard 193.(2) find
194. (3) placed 195.(1) top
196. (1) morning 197.(4) resull
198. (2) felt 199.(4) sensitive
200. (5) knew
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